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QUESTION 1

You have built a machine model to predict whether a bank customer is going to default on a loan. You want to use Local
Interpretable Model-Agnostic Explanations (LIME) to understand a specific prediction. What is the key idea behind
LIME?

A. Model-agnostic techniques are more interpretable than techniques that are dependent on the types of models.

B. Local explanation techniques are model agnostic, while global explanation techniques are not.

C. Global behavior of a machine learning model may be complex, while the local behavior may be approximated with a
simpler surrogate model.

D. Global and local behaviors of machine learning models are similar.

Correct Answer: C

QUESTION 2

You are a data scientist designing an air traffic control model, and you choose to leverage Or-acle AutoML. You
understand that the Oracle AutoML pipeline consists of multiple stages and automatically operates in a certain
sequence. What is the correct sequence for the Oracle AutoML pipeline?

A. Adaptive sampling, Feature selection, Algorithm selection, Hyperparameter tuning.

B. Adaptive sampling, Algorithm selection, Feature selection, Hyperparameter tuning.

C. Algorithm selection, Feature selection, Adaptive sampling, Hyperparameter tuning.

D. Algorithm selection, Adaptive sampling. Feature selection, Hyperparameter tuning.

Correct Answer: D

QUESTION 3

You want to write a Python script to create a collection of different projects for your data sci-ence team. Which Oracle
Cloud Infrastructure (OCI) Data Science Interface would you use?

A. Programming Language Software Development Kit (SDK)
B. Mobile App

C. Command Line Interface (CLI)

D. OCI Console

Correct Answer: A

QUESTION 4
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You have developed a model training code that regularly checks for new data in Object Storage and retrains the model.
Which statement best describes the Oracle Cloud Infrastructure (OCI) services that can be accessed from Data Science
Jobs?

A. Data Science Jobs can access OCI resources only via the resource principal.

B. Some OCI services require authorizations not supported by Data Science Jobs.

C. Data Science Jobs cannot access all OCI services.

D. Data Science Jobs can access all OCI services.

Correct Answer: D

QUESTION 5

As a data scientist, you are tasked with creating a model training job that is expected to take different hyperparameter
values on every run. What is the most efficient way to set those pa-rameters with Oracle Data Science Jobs?

A. Create a new job every time you need to run your code and pass the parameters as en- vironment variables.

B. Create your code to expect different parameters as command line arguments, and create it new job every time you
run the code.

C. Create your code to expect different parameters either as environment variables or as command line arguments,
which are set on every job run with different values.

D. Create a new no by setting the required parameters in your code, and create a new job for mery code change.

Correct Answer: C
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